1
Time: 30 Minutes Paper Math 4 Total Marks: 20

4th Month, 4th Week, 6th Day |[Monthly Revisions

Q.No.1 Encircle the correct answer from the following choices. (10)
LIS S S p e S S5

324

T000 - ——

(a) 3.24 b) 32.4 © 0.324 @) |None #3S

ii. The place value of underlined digit 12.123 is:

(a) 2 (b) 20 © 200 d) 2000

]

(a) 13 (b) 14 © 15 ) 16

Q.No.1. Add the following: 3) S S5t 1 A
828 , 1.24

Q.No.2. Slove: 3) g 2 A
5.06 — 1.09

Q.No.3. The mass of 4 boxes of pencils is 1.8 kg. What will be mass of 1 box?

@) kel 1e ¥ 186U L 14

iii. The place value of underlined digit in 87.391 is:

(a) 0.8 ) 0.08 © 80 ) 800

iv. — =

(a) 8 (b) 80 (© 0.08 @] 0008

v. 431+12.7=?

(a) 55.8 D) 55.9 © 55.6 ) 55.7

vi. 7.88-6.19 =?

(a) 1.70 ) 1.69 © 1.89 d 1.95

vii. 9.8x9 =

(a) 77.2 )| 8822 (© 88.2 @ | 88210

viii. 2.7+3 =

(a) 0.9 D) 0.8 © 0.7 d 0.6

ix.  When we round off 6343 to nearest thousand, we get:

e bt S I Sos B 1000 6343 F

(a) 6300 D) 6400 © 6500 d 7000

X. When we roound off 12.7 to nearest whole number we get:

:‘gt'm}” w:‘??qﬁwﬁm}{f}/ 127 202




